# 2019 USBC OPEN CHAMPIONSHIPS- LAS VEGAS, NV FINAL PRIZE LIST

		Entry Fee	Total Entry Fee	Less Expense	<u>Less</u>	Available for		FIRST_		LAST	PAY	PLACES PAID
# Entries	<b>Division &amp; Event</b>			<u>Fee</u>	Awards*	<u>Prizes</u>	<u> </u>	PLACE	<u> </u>	PLACE	<u>RATIO</u>	(incl. ties)
3,744	Regular Teams	\$275	\$1,029,600	\$486,720	(\$23,050)	\$519,830	\$	20,000	\$	275.00	1 IN 5	749
4,920	Standard Teams	\$275	\$1,353,000	\$639,600	(\$8,500)	\$704,900	\$	20,000	\$	275.00	1 IN 5	989
1,776	Classified Teams	\$275	\$488,400	\$230,880	(\$8,000)	\$249,520	\$	7,000	\$	275.00	1 IN 5	361
9,056	Regular Doubles	\$110	\$996,160	\$470,912	(\$3,600)	\$521,648	\$	10,000	\$	110.00	1 IN 5	1,817
10,869	Standard Doubles	\$110	\$1,195,590	\$565,188	(\$3,400)	\$627,002	\$	10,000	\$	110.00	1 IN 5	2,201
6,472	Classified Doubles	\$110	\$711,920	\$336,544	(\$3,200)	\$372,176	\$	5,000	\$	110.00	1 IN 5	1,304
19,210	Regular Singles	\$55	\$1,056,550	\$499,460	(\$1,800)	\$555,290	\$	5,000	\$	55.00	1 IN 5	3,849
19,889	Standard Singles	\$55	\$1,093,895	\$517,114	(\$1,700)	\$575,081	\$	5,000	\$	55.00	1 IN 5	3,997
13,695	Classified Singles	\$55	\$753,225	\$356,070	(\$1,600)	\$395,555	\$	3,000	\$	55.00	1 IN 5	2,760
18,675	Regular All-Events	\$15	\$280,125	\$37,350	(\$1,800)	\$240,975	\$	3,000	\$	15.00	1 IN 5	3,757
19,082	Standard All-Events	\$15	\$286,230	\$38,164	(\$1,700)	\$246,366	\$	3,000	\$	15.00	1 IN 5	3,864
12,491	Classified All-Events	\$15	\$187,365	\$24,982	(\$1,600)	\$160,783	\$	1,600	\$	15.00	1 IN 5	2,527
10,440	Total Team Entries		\$9,432,060	\$4,202,984	(\$59,950)	\$5,169,126						28,175

<sup>\*</sup>Regular Awards includes TEAM ALL-EVENTS Champions Prizes

<sup>\*</sup>Earl Anthony Sponsor Award

<sup>\*</sup>Championship Eagle trophy for each team member

<sup>\*</sup>Commemorative watch for each team member

## 2019 CLASSIFIED TEAM PRIZE LIST

1	 \$7,000	6	 \$2,800	11	 \$2,100	16	 \$1,800
2	 \$5,000	7	 \$2,700	12	 \$2,000	17	 \$1,800
3	 \$4,000	8	 \$2,500	13	 \$1,925	18	 \$1,675
4	 \$3,500	9	 \$2,350	14	 \$1,925	19	 \$1,675
5	 \$3,000	10	 \$2,250	15	 \$1,800	20	 \$1,600

**Commemorative watch for each team member** 

Prizes will be paid so there is at least one prize

## Approximate payout for the following places:

21-50	\$ 1,560 - 1,040	for every 5 entries in th	is event
51-100	\$ 1,030 - 725		
101-250	\$ 720 - 395	Prize Money	\$249,520
250-355	<b>\$ 390 - 275</b>	Awards	\$ 8,000
		Grand Total	\$ 257,520

#### **AWARDS**

2nd & 3rd Place

1st Place	Championship Eagle trophy for each team member
	Commemorative watch for each team member

## 2019 CLASSIFIED DOUBLES

1	 \$5,000	6	 \$2,100	11	 \$1,600	16	 \$1,325
2	 \$3,600	7	 \$2,000	12	 \$1,500	17	 \$1,325
3	 \$3,000	8	 \$1,900	13	 \$1,500	18	 \$1,275
4	 \$2,600	9	 \$1,750	14	 \$1,500	19	 \$1,250
5	 \$2,300	10	 \$1,750	15	 \$1,400	20	 \$1,210

Prizes will be paid so there is at least one prize

## Approximate payout for the following places:

21-50\$ 1210 - 785	for every 5 entries in this event				
51-100\$ 780 - 565					
101-250 \$ 560 - 360	Prize Money	\$372,176			
251-500 \$ 355 - 245	Awards	\$ 3,200			
501-750\$ 240 - 185	Grand Total	\$ 375,376			
751-1294 \$ 180 - 110					

#### **AWARDS**

1st Place	Championship Eagle trophy for each team membe
	Commemorative watch for each team member

2nd & 3rd Place Commemorative watch for each team member

## **2019 CLASSIFIED SINGLES**

1	 \$3,000	6	 \$1,350	11	 \$1,000	16	 \$865
2	 \$2,200	7	 \$1,350	12	 \$940	17	 \$825
3	 \$1,800	8	 \$1,200	13	 \$940	18	 \$825
4	 \$1,600	9	 \$1,075	14	 \$940	19	 \$810
5	 \$1,450	10	 \$1,075	15	 \$865	20	 \$790

Prizes will be paid so there is at least one prize

## Approximate payout for the following places:

21-50	\$ 785 - 545	for every 5 entries in this	s event
51-100	\$ 525 - 390		
101-250	\$ 385 - 260	Prize Money	\$395,555
251-500	\$ 255 - 190	Awards	<b>\$ 1,600</b>
501-750	\$ 185 - 155	Grand Total	\$ 397,155
751-1000	\$ 150 - 130		
.001-1500	) \$ 125 - 100		

#### **AWARDS**

1501-2000 ... \$ 95 - 80 2001-2739 ... \$ 75 - 55

1st Place Championship Eagle trophy for winner Commemorative watch for winner

2nd & 3rd Place Commemorative watch

## 2019 CLASSIFIED ALL-EVENTS

1	 \$1,600	6	 \$700	11	 <b>\$525</b>	16	 \$440
2	 \$1,200	7	 \$650	12	 \$490	17	 \$430
3	 \$1,000	8	 <b>\$588</b>	13	 \$490	18	 \$420
4	 \$850	9	 <b>\$588</b>	14	 \$460	19	 \$405
5	 \$750	10	 \$550	15	 \$450	20	 \$405

Prizes will be paid so there is at least one prize

## Approximate payout for the following places:

21-50 \$ 390 - 260	for every 5 entries in this event
51-100 \$ 255 - 185	
101-250 \$ 180 - 120	Prize Money \$160,783
251-500 \$ 120 - 85	Awards \$ 1,600
501-750 \$ 80 - 65	Grand Total \$ 162,383
751-1000\$ 60 - 55	
1001-1500 \$ 50 - 40	

#### **AWARDS**

1501-2000 ... \$ 35 - 25 2001-2498 ... \$ 20 - 15

1st Place Championship Eagle trophy for winner Commemorative watch for winner

2nd & 3rd Place Commemorative watch